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[112] S [112]
WS - ¥ / SECTION - A : Most of the refraction of the light rays entering the cye occurs at
(A)  Interface of cyc lens 2} Interface of aqucous humour

Eﬁﬁ? W¥T / Objective Type Questions
123~ Outer surface of cornca (D)  None of these

UvT §EaT 1@ 80 a% awgive wvA §1 399 @ fFet 40 wwAl 3
=0 g 3.) Frafafad d i o A emar &1 9= 8 2

TelE qv & @y 9w fawew fw ay § fed @ g wet & awd g g7 T o
i IR B) =@
et frweq & OMR ¥z o [ifgaa &% 1 40x1=40 O :
€ 2 (D) A
Question Nos. 1 to 80 are of objective type. Answer any 40 questions. Each Which of the follbWing is the ‘'unit of power of lens ?
quéétion has four options out of which only one is correct. You have to (A1~ dioptre - (B) watt
40x1=40 | ©) Jerg . (D) jouk

mark your selected option on the OMR sheet.

ﬁmgf‘zasaﬁﬁqﬁaﬁaﬁﬁméa%mm'm%? |4,  mmE Y3 4 Red YR @1 g R ST 8 ?

) P
(A= I ' B
(A) SEAHR (B) L (B) TR
| ; (€) & (D) IATAER
oy~ sEad (D) ERIE
iher y lohlichsts A rcmbve short sightediiess ? What type of lens is found in human eye ?
Which o € ( ) .
C © LA Convex . - (B) Bifocal
Cylindric al (B) Convex . ) ‘ i
(A) Y g : (C) Concave (D) Cylindrical
Concave (D) Bifocal ’ ‘
() onc _ . | 5./ woma % for fra gdor & Swm g & ?
2 37 i gaw e arel TE g e e T (B) HTIA g
@) s % A S (B) m ¢ S © s o) i
-y R (D) AR o [24(M)-H/S-41003-1 Page 5 of 4
(€l gfewedt % el page 4 of 40 ' Ll age 2 oL 40




[ 112
Which mirror is uscd as shaving mirror ?
CY)

#j~ Concave mirror (B)  Planc mirror

(C) Convex mirror (D) . None of these

%@f}m@wmﬁaa&wmwmﬁamw,mmama@éww:

T, ) g 6 R e A R 2

(A) A HE A T ‘(B) g@ﬁwaﬁmﬁ%ﬁaﬁa

©) THA-FF W B i e v e HeE i |

If the image of an object formcd -by a concave mirror is. virtual,
crect and larger than the ochct then where should be the ?ocation
of the object ?
(A) Beyond the centre of curvature '
(B) 'Bctwcen principal focus and centre of curvature
(C) At the centre of cur;/aturc
o]

- Between the pole and principal focus of the mirror

du e ) (@) T S

A

o dammmmm @ FAHT

] ‘ 6 of 40
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The capacity to bend rays of light is called

1X).  thc power of lens /

(B) the fcciprocal of the power of the lens
(C)  the power of accommodation of the lens

(D)  nonc of these

Jgad oF gR1 wH SR g
A = A ®) . @
() -~ mh oy T &

The image obtained by a concave lens is

(A) diminished (B)  erect

(©)  virtual D) . all of these
BieRE 1|20 cm ¥ j3Taae gdvT R what e gl
(Al F15em - oo B~ 10 cm

(C) 40cm (D) 60 cm

[112]

The radius of curvature of a concave mirror of focal length 20 cm is

(&) 15cm SRR

() 40cm (D) 60cm .

24(M)-H/S-4 1003-(51/60)
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| (112] ‘

: o 112
o frifia A @ $ 0 : !
10. <9 6 wH GHI gfget W wog_fe ) ad H 3 3 ‘ In which device doces the split ring act as a commutator ?
werm_araEde % gy uled A ? (A)  Electric motor \ (B)  Galvanometer
@B R B®) I WEH (C)  Voltmeter @  Elcctric generator
(© ot fad D) wmawh 13,/ #R ot M g § e areh s = e ¥
s sle hi f the A
A white ray is incident obliquely on a glass slab. Which of the @ Sfrret At B @ aw
following will occur with Lhc first refraction ? T B — )’)’J'// Fﬁt A : (D) @g‘\t .aa
. i : . .

(A) Dcviatic;n (B) Total reflection ‘ Thc device which directly converts solar energy into electricity is
(c) Dispersion (m)  Allof these (A)  Daniel cell (B)  Dry cell

) Z .

forga ey # SeTEA 9R T e 8 (2]  Solar cell (D)  Eveready cell
11. Qtﬁi .

® @ 14 WWW%T@WWU12003ﬁq%|ugw42203}ﬁ%%?mm
LV A fereh foreg wmg &m o
(cy.” T (D) K Al 1 e .

i S (A) 12 TR (B) 28 TR
. ek f ncutral wire is :
In domestic clectric circuit the colour o ‘ © 2ufEm . (B~ 0-18 TR
(a) Red (B) Green ‘ ‘ The resistance of the filament of an electric bulb is 1200 ohms.
' D) Y cllow ‘ How much clectric current will the bulb draw from an electric -
(zf Black )
: . f 3 ) . source of 220 volts ?
; : F@T R ? 4
) fosrer e b Tfde A .
; /12/ ferd gﬁﬁ # I (A) 12 ampere (B) 2:8 ampere
s (/(k)/ ﬁ'gﬂ e (B) ? (C) 2 ampere 27 0-18 ampere
) fE ] .
(D) Tered — /.Pm [24(M)-H/S-41003-s1/60 Page 9 of 40
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1112

|5, U W REe-SEs 59 1-5 V321 1caﬁmgaﬂ3maﬂﬁg‘m
(A 15V B 3J
© 154 o O

17

The clectromotive force ofacellis 1:5 V. The work donc on passing
a chargcof 1 C will be

(A) 1 B ®B) 3J

© 154 D o
$gugw he = g @ ?
sy ﬁwmﬁam%aﬁ—ﬁmﬁ‘,w
(B) S U ZR AW F B

(©) a@m@ﬁm%aﬁﬁm&m

(D) TEE FE T
Why is a rainbow colourful ?
(A) Dispersion of white light by water droplets

Absorption of water droplets

(B)
() Dispersion of white light by air
(D)  Nonc of these
gmuﬁ%@mﬁéﬁuﬁﬁwwéﬁmﬁéﬁﬁﬂﬁm%
a1g g ol
(A) FHERR 3 B) Afeg |
() e T S FHd (o) @
page 10 of 4
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18.

19,

Ou g )
t of a combination of resisto [ 1127
. TS, onc i : g

found that : resistor is
the net p s removed and it i
resistance has j is
S 1ncrcased. Th .
s C rcsistor was

connected in

(A)  parallel
(B)  series

(C) cannot be said (D) no f ‘ C
v nc of thes
Ush ( 0 W, 00 V) ( OW, OOV)
mlqt f? 6 2 W (4 2 ?‘F é 3YhUT 100 V 31‘512 Hq

(C) 15w
. (D) 378 ¥ + 7&
Two ‘appli
ppliances rated as (60 W, 200 V) and (40 W
, 200 V) are

connected Ccro powe:
acros PP T e total wer
s 100 V su 1y In a room. Th (o}

consumed is

@ 25w B) 10w
(C
) . 15W (D)  none of these
Frifra A w-a1 we Rrga-ufwy § Rrea-afe =) frefig s H
?
@A) I%R ‘ ® V?/R

€ ¥ /tm/w‘iémﬂ

'Which of the following expressions. represent(s) electric

oW 1
the circuit ? : Faveram
&) I°R B VYR

C) vI (D)  All of these

24(M)-H/S-41003-s1/60) T




20.

21.

22.

| 1127

mmﬁmézwmm%

A 2 B 1

© 3 (D)

The maximum valuc of magnification in a convex mirror is

A 2 B 1

© 3 _ (D) infinite

RryaTR A ST ]

(a) W@ By SicediR g

(C) SieeHiX gl (D) @ mf

Potential difference is measured by

(A)  ammeter (B)  voltmeter

(C)  voltamcter (D)  all of these
frrifere § M-8 o7 F4 8 ?
(A) dee = TR+ AW (B) a‘m=3ﬁn+®m
© wEm-dwessm (D) R = 3E e

Which of the following statements is true ?

(A) volt = ampere + ohm (B) volt = ohm + ampere

(C) émpcre = volt + ohm (D) ampere = ohm *+ volt

24(M)-H/S-41003-(s1/60)
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24.

(A)

25.

[112]

(€ Aluminium Ol
orcelain

ﬁwmﬁmm%mﬁqﬁmﬁﬁqmé,
: A
: Hifrm

Which of the f i
ollowing is neces
Sary to obtain nuclea,
T energy ?

B)

(©
(D)

(A)  Heclium (B)  Uranium
(©  Aluminium (D) Chromium
Y T e srwedis arem § g 2

A) 13w ' B) 13 3fw
© 1% T @) o

The absolute refractive index of air is actually

(A)  lessthan 1 (B)  more than 1

©

equal to 1 D) o

24(M)-H/S-41003-(s51/60)
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26. m—m-mﬁﬁmﬁmmﬂﬁmmﬁmmé
(A) Iue /@/maﬁm
(C) gHaw W o AT

Mirror uscd by ENT ( Ear-Nosc-throat ) doctor is

(A)  convex mirror (B) concave mirror

(C) plane mirror (D) none of these

o7, Afeen § fem o I B R ?
k\ (A) =Y (B) WU
©) wF (D) W

Which of the following gases is used in welding ? i

\ (A)  Methanc (B) .Ethyne
% (C)  Ethane (D) Ethene
28. UwHH (Alkenc) 1 HHRI FF 8 .
(A) C,Hp,.» B) C,Hy,_»

)9}/ CnHap (D)  C,Hyny

The general formula of an alkene is
(A) Cn H2n+.2 (B) cn H2n-2

(C) Cn H2n (D) Cn H2n— 1

[24(M)-H/S-4 1003-(51/60)|
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29. ﬁﬂﬁ@m_mwmm%? [112]
(A)  HIEEn
: (B) wHd
©) R g .
By i d

Which one of th
¢ lollowing is
81s a clean cnergy s
gy sourcc ?

(A)  Coal
(B)  Wood

(C) l\{atural gas (D) Allof th
esc

30. mwmp}{m%aﬁamm%') :

(A)  4-0d 4.8 B) 50¥58
(C) 60868 - D 70878
Within which pH range does our-body work ?

(A) 401048 " (B) 501058
{© 6068 (D) 70178

31, ' .
‘@ St TEnte g7 fefolad § @2 0
A)  c,H
2H50H (B)  CgHO,
/(’C)/C()H 1206 (D) CgHg
Which of the following is the chemical formula of glucose ?
O ks
() C,HL0H (B)  CeHgO,

(©)  C4H,,04 (D) CeHy

24(M)-H/S-41003-(s1/60)
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E [112)
Hifeam 61 T G R
17 (B) 20
(€ 2% (D) 14
The atomic number of sodium is
o .
. ‘&(_}57 (A 17 B) 20
h © 11 D) 14
/3/ Zn+ CuSO, = ZnSO, + Cu )
P\ S & e Tt siffear ST B2
(a) FE S fereerras TR
© feferearr ATAGH (D) Ferrem At
Zn + CuS0, — ZnS0, +Cu
The above reaction is an cxamplc of &
(A) Combination rcaction
(B) Displécement reactio.n
(C) Double displacement reaction
(D) Dccdmposiu’on rcaction
34. mgﬁ%mﬁwﬁﬁaﬁ@aﬁaﬁzmﬁmmmmﬂ
(a) @@ (B) e 2 '
(D) T 1 T

(€) syafafia & 2
T [2aM)-A/S-41003 10

Page 16 0f *

35.

36.

.

On n’lOVll’lg from rj ht to le across c
g ft th period  of the modern

periodic table, (he atomic
size
(A)  increases (B
) dccres
asecs

(C)  rcmains unchanged (D.) none of
- . ¢ of these
Atrfirm Bﬁmm%,a’lmm?ﬁaﬁiﬁ?ﬁ :
(A)  dien | %
(B) e
(C) IuhIer I57er (D)
SIS

When magncsium ribbon is 1gnited, the flame produced by itis
g )

(&) Yellow ' (B) Bluc

(C)  Dazzling white (D) Red
qﬁwwmzﬁczae‘%lwﬁ% |

A) o9 Eamﬁtﬁ EbC .(B) - 8 AN s
(C) 7 TrHdNH sy (D) 6 HgEAN Ty

Th
¢ molecular formula of ethanc is C,H,. It h
4 oHe. as
(A) 9 covalent bonds (B) 8 covalent bond
onds

(C) 7 covalent bonds (D) 6 covalent bond
onds

37 Y
32 e futereen 3 2 el ) et 5 R s @3 e e Tl 3

By TR 317 A
(D) fyem

[24(M)-H/S-41003-(s1/60)]

(A)  «ifean G
(€) et 5
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38.

40.

1112

The chemical substance uscd as a cast for setiing broken bones in

surgery is
(A) Washing soda (B) Plaster of Paris

(C) Quicklime (D)  Gypsum

fr=ifea § B GEEdwS AR © 2
(A) KCl ®) MgCl,
(©) CH, by NaCl

Which onc of the following is a covalent compound ?

(A) KCl B) MgCl,

(©) CH, (D) NaCl

aﬁnﬁwmaﬂmﬁﬂmﬁm%

(A) e [®) A
© & () T

An agueous solution of ammonium chloride is

(A) necutral -(B) acidic

(D) none of these

() |basic

frerifera § @ fodd # A @ ?

() R CI
© T /‘9’/ .

‘ 24(M)-H/S-4 1003-(51/60)
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Which of he wing a o ol tor clectrict ?
oll ing i n cto
O g1sa g,O()d cond ol c y
ctricity 7

(A) Plastic
(B) Iodinc

(C)  sul
phur
(D) Graphi'_c

A1 T

(A)  Mgco,

(B) Na,CO

(C) caco o

3
© . (D) Mg (HCO,),

¢ chemical formula of Chalk i \
is
. .
(&) Mgco, B N
a,CO

(C) caco 3

3 (D) Mg (HCO3)2

32" Feerien 5 e g e 7 3 -

e

_ (B) dfar
€ g (D)
ST
Whi i
: ich of the following metals is the most ductile ?
, : C'e
A) G
. old . (B)  Copper
(C)  Iron (D) zi
1nc
43, Uy
fSrmem sroma CgH, 2, F FFa s wrae dwg 3
A 2 _Br3 l
© 4 Q=3

24(M)-H/S-41003—(51m
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44,

45.

[112]

How many structural isomcers of pentanc, having moleccular

formula CgH,, arc possible ?

Ay 2 ®B) 3
© 4 D 5
stfsfTsiel 18 SCO &1 H&d & 7
() TesEES T (B) g BEG
(D) FSiE TE

9/ 5 =i
The functional group >CO is called

(A) aldehydc group (B)  cther group

(C)  alcohol group (D) carbonyl group

ﬁmm%my&mmﬁmmﬁﬁﬁmélﬁ

ﬂﬁ%aaﬁﬁéﬂ%az?ﬁaﬁﬂﬁmﬁﬁﬁqz‘rmé?

(a) Tafers (B) FEH
©) HicwH (D) @

A metal reacts with oxygen to form a compound with high melting
s soluble in water. Which of the following

point. This compound i

clements can it be ?

(A) ~ Silicon (B) Carbon

(D) Iron

24(M)-H/S-41003-(51/60)

() C_alciuml
page 20 of 40

46.

47.

48.

[112]
53&““‘@*‘%%?

(A Mg ® cu
(C) Fc (D) Ry

Malachite is an ore of Which metal ?

PHnEE ® cu
© Fe .

R b e S w0 R B e E

) Forga e | wHaw

(©). . Prgel st 0 e

The process of coating a layer of zinc on iron is called

(A) electroplating (B) corrosion

(C) electrolysis » (D)  galvanisation
fereer § fre & SH-T1 37 TR @ R 2

/(A,)/' effes st '
() it I (D)

Which of the following acids is found in vinegar ?

(B) TiHwA
TEEIING 3T

(A)  Acetic acid (B) Sulphuric acid

(D) Hydrochloric acid

24(M)-H/S-4 1003-(s1/60)

(C)  Formic acid
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49.

50.

51:

[112]

At <6 o T 12 1 gEh S =R 2

(A 1 By 2

c 3 D) 4

The atomic number of magnesium is 12. What is its valency ?

@A) 1 B). 2

< 3 D) 4
Wﬁmu@mmw&aﬁm%ﬁmﬁﬁmmm%?
(&) @ B) @i

©) Sfcagm (o) BftafEm

Which of the following metals is displaced from its salt solution by
iron ?

(A)  Copper (B) Sodium

(C) - Calcium (D) Magnesium
mwmmmmmmmmm%?
@A) ST B) FITEE
(c) Froer )

Page 22 of 40
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52.

53.

54.

[112]
The commercial production of cthyl alcohol is done by which

chemical process ?

(A)  Oxidation (B)  Reduction
(C) Fcrménlation (D)  Roasting
el 1 1 TEERE o R 2

(A)  Ca(OH), (B) CaO

(C)  Ca(HCO,), (D) CaCoO,

What is the chemical formula of quicklime ?

() Ca(OH), B Ca0

(C) Ca(HCO,), (D) ~ caco,
G A9 2

(A) - NaCl +KIO, (B) NaCl+KI
ey (A) 3 (B) A (D) T § HE A

lodized salt is
(A.) . NaCl +KIO, (B) NaCl+KI
(C) Both (A) and (B) (D)  None of these
T 31 A 1 TErEfE AW R R P

(A)  Hfewm wehe (B) Hfewm weke AR
© fewm wede dliERsE (D) Hfcwam F=rTEs

24(M)-H/S-41003-(51/60)|
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SS5.

(©)

[112)

What is the chemical name of Plaster of Paris ?

(A) Calcium sulphate
(B)  Calcium sulphate monohydrate
(C) Calcium sulphate hemihydrate
' 58
(D) Calcium chloride gf\\Q’
FTe T o =1 uiRwd w8 ?
(A) soEgH B) N
() =g (D) w8 @ i
What is present in cathode rays ?
(A) Electron (B)  Proton
(C) Neutron (D) None of these
Fas o a9e i SHiA-d fafa g 2
(A)  =EE B EGIEEIE
(©) Ea (D) T E R T

Which mode of nutrition is found in fungi ?

(A)  Holozoic (B) Saprophytic

Autotrophic (D)  None of these

[24(M)-H/S-41003-51/60) Page 24 of 40

57. VAW I W S
@) e ®) e
e A (D) i
' Latex is found in
(A) Pinus (B) Rose
©  Nerium (D) Mango
58. UgRRE Wi B @
(A)  3femE gE (B) Fwgm
(C) uevft g (D) WNE g
Androgen is secrcted by the
(A) Ovary (B) Testes
(C) Duodenum (D) Stomach
59. afder wm ]
W Fgw (B) Smm
€ e w® (D) TR
Style is part of
(A)  Filament (B)  Gynoecium
(© Ovary (D)  Stamen ‘
‘ Page 25 of 40
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o . o

[ 112
1112, ‘ ,
60. ot wm & : 63, fatfem 2
@A) 1@ R (B) THIT™ I By e g (B) TTEH
©) =RHamw iy o st , (©) FETeEe (D) =@
~ Duodenum is a part of Gibberellin is
(A)  Buccal cavity (B) Stomach ) {A)  a phytohormone (B) an cnzyme
(C L i i S i i
) arge intestine (D)  Small intestine (C)  carbohydrate D) fat
61. =g ¥ i fig, Sfcaw, 3hman aun Swer frer a2 !
‘ ; 64. RwEl =1 qeET fRE Uy BTEH % SR g R 2
(A)  IedeH | (B) WA= : )
: @) 3w );)/ wafafas I
€ 9= (D) &R ‘
- (C) TREHERA (D)  iifeH
In human beings, nasal cavity, larynx, trachea and lungs combine
tofor Wilting of leaves is due to which phytohormonc ?
m .
(A) excretory system | (B)  reproductive system (_A) Ethylene » (3, Libssisieed
(C)  digestive system (D) respiratory system ()¢ Cytoldiniin (B)  Auxin
R T f—— ‘ _ ' 65. Trmfeifge § wgmm AR R 2
(A) TS 5l HEEE (B) TH 3 Hagd o s B
)9)/ o HaE (D) R EEE (€ i (D) el Afer
In plants, xylem is responsible for Which of the following is the male gamete ?
(A) oxygen conduction (B) amino acid conduction (A)  Ovum ' (B) Sperm
(C)  water conduction (D)  food conduction (C) Ovary (D) Fallopian tube
24(M)-H/S-41003-(s1/60) Page 27 of 40
|24(M)—H/S-41003-(51/60|I Page 26 of 40 (240M)-H/ |




66.

67.

68.

(A)  Tete@m B) FEMfsaw
S& s @ e
An example of paras'itic plantis
(A)  Mushroom (B)  Bryophyllum
(C) Cuscuta (D)  Pinus
fogea umn s @
(a) T« H By wEg
(C) ey A (D) T & FHE T
Binary fission is found in :
(A) Sponge (B) Hydra
(C) Bacteria (D)  None of these

LTI | FHH-91 g dfed 8 @ ?

@A) TfEsE (B) A
(c) AT (D) wERA
Which hormone is secreted from pancreas ?
(A) Epinephrine (B) Testosterone

(C) Norepinephrine (D) . Insulin

[112]

24(M)-H/S-41003-(51/60)
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69.

70.

Z1.

frafafan § 4 =9 &1 ge T F R I R 2

(A) T Ty
(C) e T HIfdreR! (D)

(B) A T i
o A B A

Which among the following is responsible for clotting of blood ?

(A)  Blood platelets (B) WBC
(© RBC (D) None of these

it el g e SeR i verd 1 e g 8 P
fA) e (B) I

© afes I (o) v AWA

Which type of nitrogenous wastes is excreted by living organisms ?

(A) Urca (B) Ammonia

(© Uric acid (D)  All of these

mﬁmﬁ@ﬁaﬁmﬂﬁmwﬂaﬁqmm%

@) IR [B) g

) TREH -y () 3 () T

The change in body that occurs during adolescence is due to

(A)  Testosterone (B) Thyroxine

(D) Both (A) and (C)
24(M)-H/S-41003-151/so)
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A

(1121 é

0 (112] .
72, IR W7 Hger S A 75. TR e 3 @ Reess st ET € 2
(A) s (B) s (A) g - (B) T
})/ﬁﬁéan (D) &S RA (©) i }VW’T@N

. The body is balanced by the organ Pollen grains are formed in which of the following ?

. (A) Cranium (B) Cerebrum (A)  Ovary (B) Style
]
‘ (C) Leaves (D) - Anther

l 76. @ = Fafa g R

(C) Cerebellum (D)  Brain stem
73. < weg Terma wEga TR 2 )
(a) Hew By e : ; (A) T (B) W T

© < @ sl A (C) oTEiEs g (D) Wi g
The word 'Gene' was coined by Blood pressure is controlled by

(A)  Mendel ' (B) Johannsen ' (A) ’I‘esti.s ; : (B) Thymus
(C) Lamarck (D) Darwin (C). Thyroid (D) Adrenal

| a frfefed § e REer @ AW E? i 77 e ) v o @ dat R 2

@) H=d ‘ @) GREEE ’ S w meE B
e © fefe (D) St

Tafan

© FeE :(D) sftar §

In which of the following binary fission does not occur ? Which disease is related to respiratory system ?
A) Yeast (B) Paramoecium (A) ' Diabetes (B) Malaria
' (8] Pneumonia (D) Diarrhoea

(D) Amoeba
‘ ' 24(M)-H/S-41003-(51/60)
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78. T § W ww P e @ Tug - g / SECTION - B

Hiferer wreR / Physics

(A) T (B) WeRM
(C) sgem= o) R -
. ' ) ITT W / Short Answer Type Questions
The sugar level in blood is controlled by ) ‘
. i By & VYN y . ; s
A) Estrogen (B) Progesterone ikl 17 8w kS & e @ 4 F v T
(C) Insulin (D) Relaxin fow 2 siw fuifa &1 4x2=8
78. TR T T - R 2 f Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions.
(A) TESEE (B) e Hifr } Each question carries 2 marks. 4x2=8
©) T S (D) T HIRMEH 5 yzmﬁw@mﬁﬁeﬁmﬁaﬁmmﬁl : 2
Which is the longest cell of human body ? | Find the power of a concave lens of 2 m focal length. '
: ‘ : .
(A) Muscles (B) Nerve cell }/ Tl Y aiem € . 2
{ [%d
(C) Blood cell (D)  Heart cell Define ampere.
R ‘ | 3. rada g F H A 3w ) 2
80. @ el f ITER T HHA-HT U F T €1 @ 2 ,,‘ / ,
] % .
e s B) e Write any three uses of a concave mirror. .
' (A) PrERESE
s : _ 4. IFAH F-E FIE P T < IEW &) 2
(© == ' (D) AT I , '
: ) What is non-renewable source of energy ? Give two examples of it.
Which part of the food is digestt?d ip'buccal cavity ? - .
(A) Carbohydrate (B] .. Eroten Explain scattering of light.
(C) Fat (D)  Nucleic acid
20 [24(M)-H/S-41003-s1/60)| Page 33 of 40
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